7.3 Logarithmic Functions as Inverses Algebra 2 THOMPSON
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b is base, e is exponent, A is answer

Write in logarithimic form.
1) g logs81=4
81=34
2) Write in logarithmic fonm. Iog464=3
64=43

3) Findthevalue of the logarithmic expression. |og125=x then write in exponential form: 5% =125
log 5125 Xx=3

4) Find the value of the logarithmic expression. |0g381=x then write in exponential form: 3*=81

log .81 X=4
5) Write in logarithmic form. logs625=4
525 =54
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Yirite in logarithmic form. 1
2 is the base, -3 is exponent, 3 is answer, negative exponent make a fraction

6)

— =323
8 logrA=e Iogzé =-3

7) Write in logarithmic form.
0.0001=10"%
Choose the correct logarithmic form below.
10= log _40.0001
0.0001= log ;-4
—4= 100 pgpq 10

¥ -4=log,,0.0001

8) Evaluate the following logarithm. | 5553=x then write in exponential form: 9%=3
log ;3 x1/2 = \/7 X=%

9) Find the value of the logarithmic expression.

log .64 logs64=x then write in exponential form: 4*=64
X =3
10) Find the value of the logarithmic expression.
log ;32 log,32=x then write in exponential form: 2*=32
X =5
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1 1) Graph the following function.
y=log gx

Choose the correct graph below.

BV
6'1
BV

12) How does the graph of the following function compare with the graph of the parent function, y =log x
y=logx+2
Choose the correct graph to the right.

This graph is the same as the parent graph except that it is shified 2 units up

13) Write as an exponential equation.

log ,9=2
32=9
14) Write in exponential form.
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